
LE RECTANGLE

LE DISQUE

côté

cô
té

côté

côté

LE CARRÉ

Longueur

Longueur

la
rg

eu
r

largeur

π = 3,14

diamètre

ra
yo

n

COMMENT ON CALCULE

LE TRAPÈZE

LE PÉRIMÈTRE ?

LE TRIANGLE

LE LOSANGE

côté + côté + côté + côté

côté x 4

côté + côté + côté cô
té

côté

côté

Longueur + largeur + Longueur + largeur

(Longueur + largeur) x 2
ou

ou

(2 x Longueur) + (2 x largeur)

π x rayon x 2

π x diamètre

ou

ou

côté + côté + côté + côté

côté

côté

côté

cô
té

côté + côté + côté + côté

côtécô
té

cô
té

côté

Pedagogik.be

LES SYNTHÈSES
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